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Test Date: 04/04/2016
Test Time: 9:00 AM - 10:30 AM
Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

Q1 Who Wrote The Autobiography of an Unknown Indian,?

A Mahatma Gandhi
B. Nirad C Chaudhuri
C. Salman Rushdie
D. R K. Narayan
Ans  of 1B

/5 2.0

X 3.A

K4

Question ID :2055231583
Status : Answered
Chosen Option : 1

Q2 Safgare 7 SuaAv &1 9uT 9 3 72

A. oSlt & AG T (Do Mot Accelerate)

B. TS3iiedREa=Fas s (Deoxyribonucleic acid)
C. fBfSies sicas anfhca=t (Digital Network Architecture)
D. Feieltd Usérr wifeiaor (Designated National Authorities)

Ans X1-C
/5 2.0
&N
S 4A

Question ID : 2055231572
Status : Answered
Chosen Option : 3

Q.3 day 2015 # s & donfaAel o gudl & AR B ag 9 ggd Tl & age @l

A qY g

A, T80T 98 (Meptune)
B. # WE

C.ufd g

Ans ch
S 2.A
X 3.B
/5 4.0

Question ID : 2055231576
Status : Answered
Chosen Option :3

Q4

Question ID : 2055231570
Status : Answered
Chosen Option : 3




Ans

g Azelw o a1 IR ar ar?

A. 30T [gid
B. TR dedl &I aa AROM
C. FeWml 9dA1g
D. Feig #ALhadt fdg (The Golden Mean)
1.0
K 2.A
v 3B
F e

Q.5

Ans

What do the terms Geocentric and Heliocentric refer to?

A Laws governing the motion of planetary bodies around Earth and Sun

B. Pioneering Telescopic Models
C. Religions of Ancient Greece
D. Two Schools of Thought in Roman Philosophy

1.0
v 2A
K 3¢
X 4.B

Question ID :2055231569
Status : Answered
Chosen Option : 1

Q.6 NASA, sERER st well gudt fF Frawr o Rt s & Aefer o A st g o e s

o b Question ID :2055231582
A gam e Status : Answered
B. #nrd 4F .
C.yF 7@ Chosen Option :1
D39
Ans X' 1B
v 2A
X 3.D
X ac
Q7 48 & @l yeAIcHS IUIES] T AT (median) AT I Question ID : 2055231615
A 16 Status : Answered
Chosen Option :1
B. 12
C.8
D. 7
Ans X1-C
2D
X 3B
K 4A
Q.8 .
el & IR Wi fQU aIv §) sed ¥ fEew @ g Question ID : 2055231624
) ) Status : Answered
A.  Circular : Circle Chosen Option : 4
B. Rectangular : Rectangle
C. Diagonal : Square
D. Linear : Line
Ans

SA
X 2.0




/5 3.8
Wac

Q9 e e W 15% T gIfer 225 T §1 HT Hed AT H?

A 1725
B. 1500
C. 1275
D. 1875

Ans x1_C
W 2s
/5 3.D
S 4A

Question ID : 2055231604
Status : Answered
Chosen Option : 2

Q.10 we gomm it £ die it 9 Ak el A F fa A & die G g T S B 4800 A B AL A
e aet # dw fead

A, 10,500
B. 11,800
C. 12,600
D. 14,200

Ans 1.C
2.D
3.A
4.B

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Question ID :2055231588
Status : Answered
Chosen Option : 1

AN A3 Foedear FaT §7

A. fedTerT &1 g9 F4r 9dd
B. AT3C AT & 3ol H RUd ¢
C. a2 %7 gHU FIH 91 udd
D. faeg 1 e @& 331 qad
Ans x1_A

K< 2.8

W 3D

X 4.C

Question ID :2055231549
Status : Answered
Chosen Option : 3

Q.12 Heerirr (Galvanization] we afiar et i f argd W 3 wu & far B A o wd we

A Hget (Bending)

B. 31 @9 (Rusting)

C. HENA § (Comading)

D. FrmR @ (Disintegrating)

Ans 1.C
2.B
3.D
4.A

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Question ID : 2055231557
Status : Answered
Chosen Option : 2

Q13

Question ID : 2055231620
Status : Answered
Chosen Option : 2




@A # 751 &2 IR 95 (?) AT HL
1.2 B, 12,36 T2,

A. 108
B. 144
C. 180
D. 216
Ans x1_|3
2o
K 3.c
F W

Q.14 = P o s = A w W e iy w et - E A 13P3A11Y26PEW13A19 w1 T T g

A, 50
B. 38
.7
D.43

Ans x1_D
X 2.8
Wac
S 4A

Question ID :2055231622
Status : Answered
Chosen Option : 3

1% qfg Z = 26, DO = 19 @I IT=?

A. 26
B. 27
C. 28
D. 29
Ans X' 1.C
W 2o
/5 3.8
K 4A

Question ID :2055231616
Status : Answered
Chosen Option : 2

Q.16 Select the alternative that shows a similar relationship as the given pair -

Resign : Continue

A Retain : Hold on
B. Quit : Give up

C. Redeem : Restore
D. Salvage : Abandon

Ans x1_|3
K 2.A
W 3D
K 4c

Question ID : 2055231625
Status : Answered
Chosen Option : 4

Q.17 Inani les triangle, the sides opposite the two congruent angles are given as 3x+3 and 2u+3, find x

A RS
B. -75
ool
D2

Ans “1_[)
5 2.8

Question ID :2055231610
Status : Answered
Chosen Option : 1




5 3A
F e

Q.18 afts 2 am & faw 5% o afiw o3 F owafe wowe AR AR FT & A w s 225 w A s
w7

A, 75,000 T
B. 80,000 ¥t
. 85,000 T
0. 90,000 FF

Ans ¢1.D
K 2.A
K 3.c
/S4B

Question ID :2055231600
Status : Answered
Chosen Option : 1

Q19 g fgfeee goag & eof fFar /T argaE Ji fear = gl

AT Ir A

& R |aftwaw A
EACLIES 28
HIHAR 32
Harera 35
FeAR 30
ggrafaan 31
ha 29
efear 29
2ot afcaay & goar & Jag aaE fhgar ar?

A 29
B. 30.5
G315

D. 32

Ans X1_A

X 2D

¥ &N

K ac

Question ID :2055231613
Status : Answered
Chosen Option : 3

Q 20 Whar is the asme of the Tabler Computer praduced by DataWind which is promoted by the Government of India gs part of an e-leaming.
progran’
A Sakshat
B. Rambow

. Akash

0. Param

Ans X 1.D
S 2.A
X 3.B
Wac

Question ID :2055231574
Status : Answered
Chosen Option : 4

Q21 4 37l Al FaW O F&A AT FL oAl TH o7 & gl

A. 1000

B. 1024

C. 1081

D. 1064
Ans ¢1.B
2.0
X 3.A

Question ID : 2055231590
Status : Answered
Chosen Option : 1




K ac

Q.22 Guru's mother 1s the only daughter of Sachin’s mother. How 1s Guru related to Sachin?
Question ID :2055231628
A. Maternal Uncle

B. Nephew Status : Answered
C. Brother Chosen Option : 2
D. Father

Ans XH\
v2s
/< 3.D
K ac

Q23 ot ¢
et ™ & arr few are &1 Question ID : 2055231636

A. T8 Hgerd o1 IS [AheT el &l
B. sfa uftsy 3= arah g ufone & O 3nemEy e g

Status : Answered
Chosen Option : 2

forsa:

|. F3T AgaAd & AT INUTH IIed FE 1 $IS ATehe 81 gl
II. F3T AgeTd Al & fov g wwar &1

A B 7T ®ia @ vy oo FUAr F Ay aead 87

A. ddcl sy | ghdard g
B. Saer foserd || gdina &
C. | 3 Il gt adhdaa €
D. o @ | o & |l Gt a8l &

Ans x1_D
K 2.c
/5 3B
WA

Q.24 & dFnsdt o FmE 23 B Al o et A O 12 5w B e § A e 58 8 e b geand e al
A6 3t 24 Question ID :2055231592
B. 33 it 56 Status : Answered
.72 T 108
D.20 3T 48 Chosen Option : 4

Ans X' 1D

K 2.A
X 3.B
Wac

Q.25 GSM T T 7TH 4T 7
Question ID : 2055231585

A Farminee Rires BT @ifEfEd (Geographic System for Mability) Stat A d
us :Answere

B. Feiieer FHECH W A gy (Global System for Mobile Communications)
C. &2 s BT Aged (Great System for Mobiles) Chosen Option :4

D. @irs fRwew wix AREE (Grand System for Mobility)

Ans XH\
K 2.c
75 3.0
v B

Q.26 Trdd & 9T #7ed I35 e 18 % gfee
. o 3 L &l BT SR Question ID :2055231602

A. 20% Status : Answered
B. 22% Chosen Option : 2

C. 26.67%

D. 30%

Ans x 1.B




Woc
/5 3.0
S 4A

Q27 Femrg 1905 H, 3l & faNreiel &1 3G fhas fgar ar?

A. G gf¥ésd (Warren Hastings)

B. @is =xfde (Lord Irwin)
C. @1g @il (Lord Curzon)
D. faw#3c Ardcded( Viscount Mountbatten)
Ans , 1.C
/5 2.8
K 3A
K 4D

Question ID :2055231555
Status : Answered
Chosen Option : 1

Q.28 sr=gaiEy smRl 1 yeedafEan s v A e g i R aw # @ e 9 gua )

A AYAPPA
B. WARST
C. PAGER
D. ANGOM

Ans ,1_3
X 2D
53A
K ac

Question ID :2055231637
Status : Answered
Chosen Option : 1

Q.29 The Purple Frontier, The Earth Dragon and The Quter Fortresses, all refer to

A_ The Himalavas

B. The Yellow River

C. The Great Wall of China

D. Books written by J RLR. Tolkien

Ans of 1 C
/5 2.0
25 3A
X 4.B

Question ID :2055231551
Status : Answered
Chosen Option : 1

Q.30 sty 39-wEiRdd ¥ AUHE FoF & v dad arer Tgen eard [@endt wla wr?
A. FigrAG FoOA
B. avég s
C. gulie g
D. #mswa st

Ans x1_D
X 2.8
W 3A
K ac

Question ID : 2055231559
Status : Answered
Chosen Option : 2

31 3 2
Q31 cosec’A x cos’A =7

A. tan°A
B. cot’A
G
D

2
. sec’A

Question ID :2055231612
Status : Answered
Chosen Option : 3




Ans x1_c
/5 2.0
v N
K 4.A

Q32 A Fw wuEl & Gy sy 7w e #)
FYeT: Fall H HEA: AsfHAl gREAE §l
forss:
| & # dASH A4 &1
II. & & Fo wAsfRal IiEgH= 78T 8

A & 7T FlaT & Fvhy 397 FUAT & AT dHaId g7

A. had Y | gdad ¢

B. daer s || addera &

C. 1 3R Il gl ashard §

D.s dt | & Il a%gerd =gl &
Ans (1.8

/5 2.0

F N

K 4.A

Question ID : 2055231635
Status : Answered
Chosen Option : 2

Q.33 What is an Electron?

A A subatomic particle with a net charge that is neutral
B. A subatomic particle with a net charge that is positive
C. A subatomic particle with a net charge that iz negative
D). A subatomic particle with a net charge that 1s zero

Ans ’1.(;
/5 2.0
X 3.B
S 4A

Question ID :2055231571
Status : Answered
Chosen Option :1

Q.34 #HFE A W] el FEAE F GEAEET il SR sA] StfEae & s 7w e

A4 A A
B. {00 AR
C. gredr wrgrelie smsm
D, T =T

Ans x1_|3
Woc
53.A
/54D

Question ID : 2055231568
Status : Answered
Chosen Option : 2

Q.35 iR ani o @ s e 7 ¢ e e & o R da & v s a3

A WA
B. #Ard

C. g A
D. ae

Ans X 1B
vac
X 3.A
X 4.D

Question ID :2055231565
Status : Answered
Chosen Option : 2

Q.36

Question ID : 2055231561




qedl fGaq Fa AT ST 872 Status : Answered
Chosen Option : 4

A. 18 fadst
B. 20 JIEd
C. 22 3w
D. 7 e
Ans x1_B
K 2.A
75 3.0

e

Q.37 2 i 2 Oxy? 2y-9xy> -5 g
4+2xy-3x%y 3T -Sxy+x’y-2xy® & T F A 6x°y-9xy*+3xy-5 I Question ID : 2055231607

A. 8x%y-Txy*+6xy-9 Status : Answered
B. x’y-6xy-8 Chosen Option :3

C. -8x%y+7xy*-6xy+9
D. xy*+15xy

Ans X 1A
K 2D
Wac
/5 4.B

Q38 gfg Pacific : Ocean &, df Bay of Bengal: B .ccion 1D 2055231627

A. Ocean Status : Answered

Chosen Option : 3
B. Sea

C. River
D. Creek

Ans x1_A
W28
/5 3.D
K ac

Q.39 8 arEwEHAT T AT (mean) 10.5 §1 3f FEEiEE] 3 & @@ e 3, 15 7, 19, 12, 17 38§, o et
AR AT F Question ID :2055231614
A0 Status : Answered

B. 11 .
ca Chosen Option :3

0oz

Ans x1_|3
/5 2.0
vsc
K 4A

Q 28 4

40 g 7
el WA oot O e Question ID :2055231623

Status : Answered
A Chosen Option : 2

B2
C.4

D. 8
Ans x 1.B
W 2A




75 3.0
K 4c

Q41 Ifsin 8 =5/13. find cos B

A B3
B 1213
C. 23/13
D1
Ans X' 1.C
W28
253A
X 4D

Question ID :2055231611
Status : Answered
Chosen Option : 2

Q.42 af PEN - 6513 3R STRING = 580934 &, dr RIPENING -

A. 08631934
B. 09163934
C. 08316934
D. 05613934

Ans X 1B
S 2.A
3D
S 4.cC

Question ID : 2055231617
Status : Answered
Chosen Option : 3

Q.43 ¥ 4 sl 96 afex Fdt e w2 fF A de 9 wad A6 SR aE 72 et Jil AR 9 9 et
# FraeT T E?

AR
B. 2 e
C.3 e
D4 &=

Ans X 1.C
/5 2.0
WA
X 4.B

Question ID : 2055231596
Status : Answered
Chosen Option : 3

4 arcd i Hlea a?

A. w& 9fdg sAredFHr
B. U 9i¥g Fid
C. u& fiher AT@r
D. U 9i8E aeder
Ans of 1D
< 2.8
K 3c
K 4.A

Question ID : 2055231552
Status : Answered
Chosen Option : 1

Q45 gfz CALENDAR = AYJCLBYP, dr STABLE = ?

A. RQYZCJ
B. QRYZJC
C. QRYCZJ
D. RQCYZJ

Ans  of 1B

Question ID : 2055231619
Status : Answered
Chosen Option : 1




K 2.A
/5 3.0
K 4c

Q.46 =fy 2 Fwast F1 qUEH e G 1 3 AT § e us e 12 & gEdl dwar A sl

A2
B. 2
C.4

D.5
Ans ?(1-A

/5 2.0
Wsc
X 4.B

Question ID :2055231605
Status : Answered
Chosen Option :3

Q47 7 sgomsit arel v sgaget A1 B A Al F% 1 Aer e gen?

A. 180°
B. 360
C. 540°
D. 900

Ans x1_A
5 2.8
X 3.C
WD

Question ID : 2055231609
Status : Answered
Chosen Option : 4

Q.48 ea 2015 3 QA F TP Tolgy F T H [HT AT =67 14r 472
A. GeTeTT HIET
B. TR, el

C. gay g%

Question ID :2055231554
Status : Answered
Chosen Option :3

D. 319 siger

Ans X' 1D
K 2.c
v 3B
K4

Q49 Feggferd (Confucius) Hid om?
A. [Osaa &1 Ts qureT @isar

B. us 0T greiae

Question ID : 2055231550
Status : Answered
Chosen Option :1

C. e & 98d 3R Wq &g F oF 908 AT
D. #IR&TS |Hd

Ans ,1_5

/5 2.0

5 3.c

F W

Q.50 Frearfsa @PR (Laccadive Sea) & 3 fFw & @@ Si&r SIram g2
A. He IER

B. #fidi®E IR

C. oatgdIT WPR

Question ID : 2055231548

Status : Not Attempted and Mark

ed For Review
Chosen Option : --

D. HAreldld ERR
Ans x1_B




Woc
X 3D
X 4A

Comprehension:

Ar=fafEa Jeedr W far & 3R 339 W mafia mad & J99 §

Y, R, M, J 3R B ufg cgaara & &, 314iq Boeay, Ree, sohferr, awadfeaa 3t weEée 3 g 3aeqor
el #arse, oiveld, derheicy, ddelc 3 FU, AElod FH A g1 Th dfFd hdel Th & 9 HI 3R dhaer
T &1 3YSIOT H A Hhal Bl

1. M & 9 U derspeled § 3R a5 @ & Qe g 3 a & awenfiaa g

2. BeEa & U dacie 2

3. g =afFa & 9 vs AEEd § 98 7 TF tEEce ¢ AR T & v Warw

4. Y s R & Os am & o doped § 3t 9 & Aesa g

5. J TF geaieas § A B e T8 g

SubQuestion No : 51

Q1'5 FEfef@a # 4 <l ar @& garee g7 Question ID : 2055231633
& Status : Answered
A. ﬁ‘m:!‘_ﬂﬁ = m Chosen Option : 1
B. 313cc - ¢9olc
C. dehallaras - &Hgex
D. Safifeay - #9elg
Ans { 1D
X 2c
X 3B
X 4A

Comprehension:

T=eifEa el W TR & 3R 389 W snaia gad & J499 G

Y, R, M, J 3k B ufg cuaam #za &, 32iq Boeay, R, sohfaer, awadiftaa 3t vwsée 3 g 3asaor
Jrelie AaISe, veld, Sorheled, ddelc 3N FYR, AEloH: A H g1 T AFd Shdel TH &1 928 HI AR dael
T T 3UHLOT B o Hevell B
1. M & 91| T derpeied ¢ 3R a5 @ & Qe § 3R 7 & aweifea g
2. feoga & U deeic §
3. 50 =afFa & 919 us ANEd ¢ 98 o Uh THhiScce ¢ 3T o 8 s (96T gl
4. Y v oo § 5 9@ 7 af doe § 3T 7 & Aasd g
5. J U aEifEas § 3 B Riete 6T gl
SubQuestion No : 52
Qés Heged foEd 9 g7 Question ID : 2055231634

Status : Answered
A B Chosen Option : 3

B.J
C.R
5
Ans " 1B
X 2.D
W 3.C
X 4.A




Comprehension:

T=fEa Seedr W TR & 3K 33 W smaiiia gad & J499 ¢ -

Y, R, M, J 3R B ufT cuaa &g &, 30 Boeae, e, sshfaer, awaifema 3t veEée 3 o 3asor
oA, HIEISel, WUeiy, Ferpoicd, Caoie HIT YR, AETEOF HH H g1 Tk eqfad $del Th g1 92 H 3 Hae
T & 3UHAOT H o TRl B

- M & uE vw dergeex § 3R ag @ & R ¢ i @ & awenfeaa g

. Teoget & urg 9o &)

. oo =afFa & 99 v AEEd § 9 9 UF TSl ¢ A A & o @are E

.Y F SR § Owd 9w 7 ar Foued § 3R A & Aesa g

5. J UF aEifeas § 3 B et @1 g

SubQuestion No : 53
Q5 =
3 UhI3ET & T iel AT 3THLOT 87 Question ID : 2055231632

NS GUR N

Status : Answered

A. ¢aoiT Chosen Option :1
B. et
C. Hiasd
D. d9eiT
Ans J1.B
X 2D
X 3.A
X ac

.54 "
Q54 myer &% 4418 + 7432 — 24/50 Question ID : 2055231589
Status : Answered

A 3[]\1'5 Chosen Option : 4
B. 3243
C. 3642

D. 30v3
Ans X1 C
X 2D
X 3B
W an

Q.55 What pomting device in comy 10m3 by d ing two-di ional motion relative to its supporting surfaca’

e Question ID :2055231580

B. Tracker Status : Answered
C. Mouse
D. Keyboard

Ans 1 A
X 2.0
X 3B
Wc

Chosen Option : 4

Q56 yra 7 dd Hifd & Sieleh & T H Hiel alpiad g7 Question ID : 2055231564

Status : Answered

A. HTEG qEdrel Chosen Option : 1
B. 1. @uifd e

C. Fraaeicra qeel
D. SEANATS qeel

Ans




v SN
K 2.c
253A
X 4.D

Q.57 oRd & A S & TF 3 SFEe 50 Aacded 1 S B o o

A. 9f23T STaTE O T
B. WER doad A8 Iw
C. 51. 3l wag

D. d1. {=iaiareE

Ans  of 1D
/S 2.8
K 3¢
F N

Question ID : 2055231556
Status : Answered
Chosen Option :1

Q58 T & Ugel 3UAE T A FAT AT?

A. 3mierg
B. eamer
C. sgAdtd
D. eeelr
Ans “1_/\
X 2D
/5 3.B
F e

Question ID : 2055231575
Status : Answered
Chosen Option :1

Q.59 = dff #aE wan 10 & it s & aue PeaEiEa aegs & o oy e -

1. Totm wrt & sweh i o @ we 5% ar el A 80% Fw mifde fke
2. B o & affg & 95% i At e § 90% & I s aEe B 6
3. T w7 A A A E)

Folw ca et @ 8 # o on ST w8 F ey

A. B = s arET 3 90%, W0 W 89%, Be W 75% gifte Weu AT a7 uw Peans §1

B. |t sitfiw amea #F 92%, nfvia A 95.5%, Bed # 81% pfdw B i oF aee w0 @
C. R af T famm & 93%, #iftig & 96%. 3l & 80% 3N a awdeata wed )

0. D & sitfas o & 90%, O e A 81%, AT #F 80%, B i 75% At 98 v s

Ans x1_A
/5 2.0
¥ N
K 4.cC

Question ID : 2055231646
Status : Answered
Chosen Option :3

Q.60 TR &1 95 3T 38 T R Faw w1 a6 &

s A e Fed e wiia mll dnedl A dee S P sl B g f s s
T A e e O A F A d e W s A e S {9 v e e
13§ A, 35 @ A7 seleant & e s s o weaitae A5 @ g @ oo

R o g & wtw @ faved fwe &7

A arree T s wa e #)

B. Fea [T divg o el ol 1 @ aE g
C. st e i @ §

D. T wene] & Bffca aweds ® e

Ans x1_c
X 2.8
753A
W 4D

Question ID : 2055231648
Status : Answered
Chosen Option : 4

Q.61

Question ID : 2055231626
Status : Answered




HARET & FHEar & 9ar w79 l

Common Cold, Ringworm, Conjunctivitis, Whooping cough

A. 3 Tsh srHsHS T §)

B. ¥ @afl 3U9NIcA® 399N #Y giaferar g1 Fd|
C. 3 ash & gl

D. 37 @l & foIT i HaRs 39T 39 a8 &

Ans x1_B
2 2.0
753.A
Wvc

Chosen Option : 4

o2 oy, ot Tl wle 87
A. AT Fedrel Tl

B. A saaACIOH Al
C. AR dsfHies Jiaas
D. 9 fhehet
Ans X1_B
K 2.A
Wac
/54D

Question ID : 2055231558
Status : Answered
Chosen Option :3

Q.63 u sid @ uftany 28 @0, 21 afd swehl ve g 4 A0 @, o qud gar B odad g w1

A 24 FAL
B. 7 @A
C. 10 &L
D.8 &

Ans x1_D
K 2.A
/5 3B
vac

Question ID :2055231606
Status : Answered
Chosen Option : 4

Q.64 ™ EEr 5 FEALA S AT F wwar § I v g A 18 e A 9% S A § g A e e

A 1500 #Hreg
B. 1800 #Hex
C. 1250 #Het
0, 1200 ez

Ans “1.A
K 2.c
/5 3.B
/5 4.0

Question ID :2055231599
Status : Answered
Chosen Option : 1

Q.65 v @i 3 a¢ & W 7% affw swaia s 6 e @ ow Fa 8 Wited o swr da § af Ty e e
F T # B5.966 T F A FIA § o U A T2 i R o

A, 462,000 wet
B, 382,000 w5
C. 354,000 T
D. 428,000 T4

Ans x1_A
K 2.c
v3sB
/5 4.0

Question ID : 2055231601
Status : Answered
Chosen Option :3

Q.66

Question ID :2055231547




2 3rFga} 2015 I =il IETCl T Hel el H A1 T g7

Status : Answered
Chosen Option : 2

A. FEC g
B. 3eWET Inc.
C. el

D. e Inc.

Ans X1 D
X 2.A
X 3.cC
W8

Q67 gy faar # didg (CPU) &1 T &I ar g2

A. B grEnfHET gfefedT (Core Programming Ulility)

Question ID :2055231579
Status : Answered
Chosen Option : 3

B. dgel 9rafdar gfde (Central Processing Unit)
C. "fhe 9Refa gieie (Circuit Peripheral Unit)
D. =faa faegd 3991 (Controlled Power Usage)
Ans X 1D
X a2c
¥ N
X 4A

Q.68 Thermostat is a device in ovens which helps to maintain a temperature by:

A. completing the circuit
B. breaking the circuit

C. adding a component to the circuit

Question ID :2055231562

Status : Not Attempted and Mark
ed For Review

Chosen Option : --

D. removing a component from the circuit
Ans 1.D
2.B
3.A
4.C

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates.

Q.69 =R T & 2015 F CHG 9 ot awel Teel &7 #1 @A 91 CNG & g w7 @ £7

A. gt Amsgha i (Compressed Mitrogen Gas)
B. @ispfaa wigfow #4% (Compressed Natural Gas)
C. Faex digeiada 18 (Clean Mitrogen Gas)

D. F&w AT AEg=s 4 (Carbon and Mitrogen Gas)

Ans X' 1A
X 20D
X 3.c
v 4B

Question ID : 2055231560
Status : Answered
Chosen Option : 4

Q70 Foqey A ¥R ¥ §af9d RAM &1 qof 9 &3 &7
A. =7 waaw AANT (Random Access memory)

B. e vegw ¢ #A (Real Access to Memory)
C. {zHel aidelaer AANT (Randomly Available Memory)
D. {57 wsaw AL (Random Access Machine)
Ans X 1B
v 2A
X 3.c

Question ID :2055231581
Status : Answered
Chosen Option : 2




X 4D

Q.71 w18 7 3 costly dining table” F1 an ob op” ¥ SR T § AT cannot buy table’ F ‘es an dq’ ¥ 3R

Ans 3 1B

foram 3, & table' F fRE o fwn smw? Question ID : 2055231618

A ob Status : Answered
B.cp

C.dg Chosen Option : 4
0 an

X 2.A
X 3.c
¥ W)

2

Q.7 What 1s the difference in the total sales of KO and HO in the last three years?

Ans " 1D

Comprehension:

The following table represents the sales (in nullion) of four companies for five vears. Consider the table and answer questions based on it.

Company | 1954 | 1985 | 1986 | 1987 | 1988
TO 350 | 400 | 300 | 350 | 350
HO 170 | 220 | 250 [ 225 | 350
Ko 230 | 210 | 250 | 270 | 300
YO 300 | 240 | 150 | 225 | 250

SubQuestion No : 72

Question ID : 2055231644
Status : Answered

. 200 million
. 195 million 4
3 million Chosen Option : 4

No difference

gowe

X 2.B
X 3.A
e

3

Q.7 Which company’s total sales in the first three vears 1s lowest among others?

Ans

Comprehension:

The following table represents the sales (in nmullion) of four companies for five vears. Consider the table and answer questions based on it.

Company | 1954 | 1985 | 1986 | 1987 | 1958
TO 350 | 400 | 300 | 350 | 330
HO 170 | 220 | 250 225, | 350
Ko 230 | 210 |-250 | 270 | 300
YO 300 | 240 | 150 | 225 | 250

SubQuestion No : 73

Question ID :2055231643

A YO Status : Answered

B. HO Chosen Option :1
C. KO

TO

D.

v B
X 2c
X 3.A
X 4D

Comprehension:




rafafaa arfessr ar Fufaat & gig g fr &6 (@fega #7) 5 guar 81 afde W ffan # sk 33 |
MR Farelt & 99 &

H9AT | 1984 | 1985 | 1986 | 1987 | 1988
TO 350 | 400 | 300 | 350 | 350
HO 170 | 220 | 250 | 225 | 350
KO [ 230 | 210 | 250 | 270 | 300
YO | 300 | 240 | 150 | 225 | 250
SubQuestion No : 74
%7aﬂﬂ¥ﬁ$q?ﬁ1985—19882#m%ﬁﬁwaﬁmqﬁa?ﬁ?ﬁﬁ?

Question ID : 2055231645
A. TO Status : Answered
B. HO Chosen Option : 4

C. KO
D. YO

Ans X 1.D
2.
X 3B
Wac

Q75 Feeifar AR TS 59 §1 # 1 HLar §7?

A. TF Tod T
B. T HC el

C. 12181 &1 U g
D. T& HIged

Ans X' 1A

K 2.c

3D

X 4.B

Q.76 T 68.04 e (#FF) TEw 3780 @R A EARG B O § @ veE s o B aEe e

R Question ID :2055231591
B. 1.8 el
C. 180 faer :

D. 1.08 R Chosen Option : 1

Ans of 1B
S 2.A
X 3.D
X 4.C

Q.77 = 30 swesh witfim 7 d w1 ek o w15 e o g w we §a 25 st e seh e w
12 Rt # mArd o= & [ afaie Pt o e e st

Question ID:2055231566
Status : Answered
Chosen Option :3

Status : Answered

Ans

AB
B. 10.5
C. 125
D. 15

v N
X 2.A
/5 3.0
K ac

Question ID : 2055231597
Status : Answered
Chosen Option : 1

Q.78

Question ID : 2055231630
Status : Answered
Chosen Option : 4




afg TH_ 1 &7 Jg £ 3T 3@F Far & di a= §, a1 UL ¥ Fhae I £

A
B. 2
e
D. e 3 =187

Ans x1_C
K 2.A
/5 3B
4D

Q.79 v e ey s o arwdt oo & fe L owwr & e ae e g #2238 & ama A e
A SRd TF 1 48,000 w9 g g § o s e i fke e

A, 450,000 F53
B 240,000 5
C. 360,000 Fwt
. 120,000 FF

Ans x1_A
Woc
/5 3.B
25 4.0

Question ID :2055231593
Status : Answered
Chosen Option : 2

Q.80 What is considered the Supreme Law of India?

A The Indian Constitution
B. Democracy
C. Teachings of Dr Ambedkar
D. Secularism
Ans X 1.c

5 2.8

75 3.0

WA

Question ID :2055231563
Status : Answered
Chosen Option :2

Q.81 v awt i v, dhard st Favd awne 363 Hiew, 528 Fiex o 693 e 1 we o 2w A Rl e
FAY & o=l A OETSE A

A 33 FeT
B. 35 #eT
C. 27 #e

0. 30 #ex

Question ID : 2055231595
Status : Answered
Chosen Option : 4

Ans X 1B
K 2.c
X 3.D
WA

Comprehension:




Study the following diagram and answer questions based on 1t.

The diagram represents the reading preferences of people in a society.

Newspapers e @
qw +— Novels

1

Magazines

SubQuestion No : 82

Q.8 The ratio of people who read both magazines and novels to those who 1cad only newspapers 1s

2 A 200 Question ID : 2055231639
B: 27/10 Status : Answered
C. 915

Chosen Option : 2

D. 920

Ans x1_A
W28
/53D
K o4c

Comprehension:

Study the following diagram and answer questions based on 1t.

The diagram represents the reading preferences of people in a society.

qﬁ e Novels

Newspapers e

!
Magazines

SubQuestion No : 83

Q.8 The ratio of people who read only magazines to those who read all the three is

3 Question ID : 2055231641
g- i; Status : Answered
c 59 Chosen Option : 2
D. 49

Ans x1_D
W28
53.A
K o4c

Comprehension:




Study the following diagram and answer questions based on 1t.

The diagram represents the reading preferences of people in a society.

Newspapers e Q
qw +— Novels

!

Magazines

SubQuestion No : 84

Q.8 What iz the difference between the people who like novels and those who like newspapers?
4 Question ID :2055231640
A 250
B 240 Status : Answered
C. 200 Chosen Option : 2
190

D.
Ans (1 A
vac
/5 3B
54D

Q85 sigen 1 A¢T e AT 9g (?) A B Question ID : 2055231621
DABC, HEFG, 7, PMMNO, TQRS.... Status : Answered
Chosen Option : 2
A, UKL
B. LUK
C. KIJL
D. JIKL

Ans x1-A
W2s
K 3.c
/54D

Q.86 210 #Hiex Fdt var et 108 fo e 1 iy & awch §1 150 ez FF e oA a2 A w0
AT TaeTelT A T Question ID :2055231598
A B HFE Status : Answered
. 9wz )
S. ?u e Chosen Option :3
D. 12 ¥%2

Ans x1_c
S 2.A
W 3D
5 4.8

Q.87 Find the measure of an angle which is 4 times its supplemen angle.
el e A Question ID :2055231608
(=]
A 45 Status : Answered
B 360 Chosen Option : 4
Q
C. 90

D. 58




Ans X 1.D
S 2.A
F N
4B

Q.88 M is the brother of G who has a sister C. How is M’s father related to C’s son?
Question ID :2055231629

A. Father Status : Answered

B. Maternal Uncle )
C. Paternal Uncle Chosen Option : 2

D. Grandfather

Ans x1_A
W 2o
X 3.C
4B

Q.89 In which year was the economic liberalization in India Initiated? .
Question ID :2055231577

A 2003 Status : Answered

Chosen Option : 1
B 2014

C. 1978
D. 1991

Ans ,1_[)
5 2.8
K 3.c
S 4A

Q% off=T offg & 4 9H@ dcd FiaT F 87 Question ID :2055231573

Status : Answered

A. ®Igl, oWl Ao 3t m Chosen Option : 1

B. giferaer, e, sRfeae Ak ek
C. iz, qfas, dafaas it B
D. F94, glas, siadee 3R amge
Ans ’1_[)
S 2.A
X 3.B
X 4.C

Q91 {/x=4 3T 1ly=7 &, @ x+y AT HI Question ID 2055231586

Status : Answered
L xd Chosen Option : 4

1
© 28

e
Ans x1_

A
B. 28
C
D

X
: ¢ N
O W o »

Q.92
Question ID : 2055231546




Sieferdl 2016 T, IR (ARG IRET IR TI1ee1) FEAed Fel T ar?
A. dras
B. $oIETg
C. FIoahIdm

D. e
Ans x1-B
WA
X 3.C
/5 4.0

Status : Answered
Chosen Option :2

Q.93 72 #Hiex E AR a0 Aoy A e W g Bk S $ow osw o A aeee v e af Rk gz
erEl g T R e

A2 HieT
8. 15 A
C. 18 Aiex
D. 9 #ex

Ans (1_0
S 2.A
25 3.D
4B

Question ID : 2055231594
Status : Answered
Chosen Option : 1

Q.94 = gEEER 20 FRiA AT 4 FE F @ Heu % aE A S ¢ SE R aided @ gan?

A, 20%
B. 25%
C.33.33%
D. 15%

Ans x1_C
X 2D
v 3B
5 4A

Question ID :2055231603
Status : Answered
Chosen Option :3

Q.95 Who created the comic strip Calvin & Hobbes?

A Bob Marley
B. Tex Avery
C. Chuck Jones
D. Bill Watterson
Ans x 1.C

2 2.A

W30

/S 4.B

Question ID :2055231578
Status : Answered
Chosen Option : 2

Q.96 What is the unit of length used informally to express astronomical distances?

A. Petametres
B. Parsecs

C. Light years
D. Hubble length

Ans x1_A
Woc
/5 3.B
254D

Question ID : 2055231584
Status : Answered
Chosen Option : 2

Q.97

Question ID : 2055231567
Status : Answered
Chosen Option : 1




Ans x 1D

Q.98 aifitwua (A) sift @ (R) A Re v &)
AT (A): Tl F B BT F FH0 06 aoih § R FANTE S B
FH (R): e H@eenvT U g & A wew St @t gEaes st & ofEia s b
HE B gl

A A 3R o Eog € AT R, A & ad s

B. A R R &I T &, d@fFA R, A &7 uf carEdr A #
C.A | ¥, T R oo @

D.A 7dd & 9 R 99 §

Ans x1_C
S 2.A
25 3.D
W 4B

Question ID : 2055231647
Status : Answered
Chosen Option : 4

Q.99 Ty v I 54 TraA/der 1 afy & el § o A8 1 e A Bhael g ou F0h7

A9 AT
B. 90 ¥ey
C. 900 #Frex
D. 540 #reg

Ans x1-A
Woc
/5 3B
/5 4.0

Question ID :2055231587
Status : Answered
Chosen Option : 2

Q.10 EaT 2015 # e (UNESCO) % o fidt Seark 8 F o aieli sgdl &) nfite Ben amn an?

0 A, AR ST S
B, 3 AT saneag
. gadH 3 Fewell
D. #Agt st Feate

Ans x1_|3
K 2.c
WA
X 4.D

Question ID : 2055231553
Status : Answered
Chosen Option : 3




